989

DOWEL PINS

JvoEey

M #ME sus2
G %  45~50HRC

21 R L
Type D
0.4 1 |6 8 10
06 1.5 |6 8 10
2 |6 8 10 15 20
1.0 25 |6 8 10 15 20 25 30
3 |6 8 10 15 20 25 30 35 40
4 8 10 15 20 25 30 35 40 45 50
§ ‘ 15 MS
15" 5 8 10 15 20 25 30 35 40 45 50
S { §§ 2.0 6 8 10 15 20 25 30 35 40 45 50 55 60
0" 25 8 10 15 20 25 30 35 40 45 50 55 60 65 70 80
L 3.0 10 15 20 25 30 35 40 45 50 55 60 65 70 80
u5 12 20 25 30 35 40 45 50 55 60 70 80
m#E su2 ’ 13 30 40 50 60 70 80
FEE  58HRC~
Qs @O TERSEBTT,
—_ o 1)
MSV (B¥EE% 1 7) 01 | 22 2 L
Type D
[
./ 0.2 2 [ 8 10
%8 15 1.0
s 3 8 10 15 20 25 30
= 15 4 10 15 20 25 30
@,L 01 : 05 MSV 5 10 15 20 25 30
L 20 | 6 10 15 20 25 30
25 8 20 30 40
mHE swe 3.0 10 30 40 50 60
C) % 58HRC~ LT RIS EETT,
OEREL1T/ v IECFEBEICTAELTVET,
v B
MSTP (& v 7tk &1 ) 21| MXP | 2 D L
Type D
ROI~M2 6 IF—~b 15 | 3x05 | *6 5 [10 15 20 25 30
— b0 |4X07 | 6 |10 15 20 25 30 35 40 50
o £ ~ | 5x08 8 15 20 25 30 35 40 45 50 60 70 80
o +0.010
10 15 20 25 30 35 40 45 50 60 70 80
>§< ] 6%1.0 | 10 | +0.005 MSTP
L 25 12 20 30 40 50 60 70 80
) ox125| 15 13 40 50 60 70 80
@UETLHIOEA, 4y TOTANEETARENENET, | ——] .
@056 TLHINBA, 49 TOTANBET 2 HANHY £T 20 16 20 50 60 70
Bug s | cetmssEwcr.
@ *#D=5DH A, L=6FSEMBETT, @*D=6. L=10DHANHL=6
“ T a y
MST (2 v 7 ffpe 2 1 7) 21lg2! MxP | 2| Dus Typ;ﬂ.:iﬁ _ 1
; N IF7—~Uh
Al Rl 15° 15| | 3x05 |*6 5 (10 15 20 25 30
g | o 1
" S| 4%0.7 : 6 [10 15 20 25 30 35 40 50
2.0 *8
fe b 5%0.8 8 15 20 25 30 35 40 45 50 60 70 80
0 |- +0.024
L g +0.015
10 15 20 25 30 35 40 45 50 60 70 80
—1 6x1.0 [10 MST
@UTIHI0SE, 4o TOFRIERTSBAN5NET., | 25 12 20 30 40 50 60 70 80
802 A
(FLBU ) Iggﬁ 13 40 50 60 70 80
—11.0] 8x1.2515| "~
16 40 50 60 70 80
3.0
+0.035
HE U2 10x1.5 |18 20 50 60 70 80
W 45~50HRC +0.022

@Lrt RIS EETT,

@*D=5DHE, L=63SEMETT,

@%D=6. L=10DIFEDHL=6

Order -
X MS2 - 10

" B
MSTM (% v 7fim6% 1 7) 01/22| MXP | 2| Dme z L
Type D
a N *
5% 6 I7-N b 15| | 8%05 6| 4 oo 5 [10 15 20 25 30
= it 157 b +0.004
E— T 4%0.7 6 (10 15 20 25 30 35 40 50
1 7 1 = %
=== || o 2.0 8
X 0.
" e s 5%0.8 0015 8 15 20 25 30 35 40 45 50 60 70 80
2 gt 10 15 20 25 30 35 40 45 50 60 70 80
. - 6x1.0 |10 MSTM
25 12 20 30 40 50 60 70 80
1.0
@0ETLT0SE. 40 TOTRIRATS841 5 7, iggag 13 40 50 60 70 80
8x1.25/15| ' =
16 40 50 60 70 80
3.0[1.5
= 10x15 |18| 10021 20 50 60 70 80
Dmé M #M&E sus2 .
= - DEBE ~50HRC | @prpotikisEETT,
@ *D=50HA. L=6FSEMETT, @*D=6. L=10DHANDHL=6
— o U]
MTT (55 7145 —138 14 7) MxP 2 S L
R Type D
6 =
i 4 5%0.8 9 8 30 40
=== RﬁD go
E— 2 10 40 50
o —at 6X1.0 10
X 2 MTT 12 40 50
L 8x1.25 14 13 50 60
BHE & come 10X15 16 16 60 70
- . B
MSSH(X kL — k7% 1 7) - o 5
6 Type D
MB 15 K
R=D 1 = 0 2 6 8 10 15
_ DL L —0.010
2 MSSH 3 8 10 15 20
L 0
‘ 15 e 4 10 15 20
QUTEREEETT.
M#E su2
G % 58HRC~
o o 1
MSTH(% v 775 1 7) 21122 mxp 2| omr TS §
Type D
15] | 3x05 6 o 5 (1015202530
5 I7—~ b —o. _
X ~ 0.012
X I polL4%07 |, 6 [10152025303540 50
! = 05 3X08 0 8 1520 25 30 35 40 45 50 60 70 80
' —0.015 10 | 152025 30 35 40 45 50 60 70 80 100120
22 21 —1 6X1.0 [10 MSTH
) 25 12 20 30 40 50607080100120
L ' . 13 40 50607080100120
8x1.25/15 —0
16 40 5060 70 80100120150
3015
@UESTHI0BE, 4y TOTRIEET 52 LHBYET, 10X15 |18 _8021 20 6070 80100

@02 TEIRBEBTT.
@ *D=50IF4. L=6FBEMWTT,

@#D=6. L=10DHED#L=6

_ﬁ Delivery
HEE

QP ==a

I7ARY MEE QNVIVIEL EF DR,

BEETT,
£DFICHIE
HWRmE : MSTP

MST
MSTM
MSTH

0.15

IBFS

990



